
(00z3
*
= 100433

.4

= 100 - 100 -100-100 J12
=

100
.000000712

fzz3)2 7 z]4=x-4239

-a⑱



73x2= +3 07 +x)"02 : 9
19 =Movis ap ,Ppi)= - 018

= - 19683018
-
(24y4)2 . 1-32y20 = 24= 2.2.2 - 2

E= (16y4)2 : 1- 9420)" 32= q

=(1624-4 ./1912y20 .2)
= (256y8) · /87y4°
= 236.8198 +40 = 20736y48



23 : (23) (3) (28) *
=27 : 22g"33]. 24 94
=27 . 432 : 873 · 1634
= 2 . 4 .8 -16312+3+ 4

= 64 :16Inoge
= 1024770



(02)3 30 . 1-0) : (054
= (04 . 30 . (10) · Gas"

=13p2
:

3.30 . 1-10) · 14054
& - 06 . 30 . 1-10) . 102
= 1-3 :-1) -106+1 + 1+20
-

=
-3 028 ④

= 1.1-1=1I14 1-111=1



(202) (30S)=
= (502.5) : /3204
=1883) : /9 :

G
*/

+106+↑
= 8 . 9 OO

= 72 216



12272
Y= 2

Prenti= = e
= 18 = 256



(2) = - 27/7=Novos
ag ,Os)

= 2 .2 . 2 . 2 . 2 . 2 .2
=

- 128



⑰

(73yS)20 (- ) = F B.+B)
=(-1)-(-1)*

- (7143)20 ⑰
12

(BY y5p2S
* (191920

-

I⑰x =10⑰ 20

I 13200 (11%) = 12,10%
= B200 200

(15= 1



(134 =Fly
=1 - j6)
= fly6

. 1

= -* 36
I
11 i)


